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guoooooboooboobbobd
S(f): 00 f(z)yDODDDDOOO0ODOODOOOOOO (linear) functional

000000000000 (numerical quadrature) 0000
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDF@%:/ﬂ@w@MxD

DDDDDDDDP@%waDDDDDDDDDDDDDDDDDDDD/ﬂwﬁ%%&
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5.1 U0OUOOOUOOOOOOONO

gbbooogobbdoogan

5.1.1 NCOOOODO

0000 wr)=10000
100000 <z <29<---<2,<b0000 (n—1)0000000 Lagrange 00O

Pooi(z) =Y Li(2)f(x;), 000 Li(z) = %
i=1 j=1,j#i " J
00 f(z) 0000000
b n
Sn-1(f) = / ZLz‘(flf)f(sz‘) dz = ZAz‘f(%) (5.3)
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goo

b
Ai:/ Li(zx)dzr (i=1,2,...,n)
guoooooog

rj=a+jh (j=0,1,...,n) (n+1)0!) h=(b—a)/n
fi=flz;) DOOO
n=1000000000000000

Si(f) = g(fo + f1) [0O00 (trapezoidal rule)] (5.4)

n=20000000000000004
h .
Sa(f) = g(f0+4f1—|—f2) [Simpson O | (5.5)

gbbouoodgobobod

HEN

Sulf) =1 aifi, (h:h/‘ dx—/:Hg——M
=0 0
[1,.(i—j) = (=) il(n— i)l 0O O
a = (~1)"'L (") /On 66 — 12 -_--i(e —) 49 (5.6)

00000 f(z) 00000 [0,b) 00000000 {g} 000

f)=h) af
=0

O0(r+1) 000000000000 (Newton-Cotes formula) 00 00O

5.1.2 0O0O0O0OOOOOOOOO
00000000 E(f)=8(f)—S.(f)000.

00 5.1 2x0mO0000000000000,0000000000,0000
E,(2*)=0 (k=0,1,...,m)

00 E, (™) #£0000,0000000 mO (orderm)000. g
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0 5.1 Simpson O Sy(f) 0 0OO.

1 2
So(l) =b—a, Si(z)= 5(()2 —a?), So(z?) = §h(3a2 + 6ah + 4h?)

ggoo. ogugooogoogguooogo. oog
b
So(2®) = 2h(a + h)(a? + 2ah + 2h2) — / 2 da

O00000,S(f)0000030000. »

NCOODOOOO,P(x) 000000000,0 (45)00

1

Bu(f) = [ 1@ =Pua)de = s [ ama0) =) 0 e do (0 < €a) <)

gobobda.ogobooo

00 5.1 f(z) 0 C**() 0 (n DODODO), C*'Y([) 0 (r 000D00D0)000D0,
h=((b-a)/n,zj=a+jh (j=0,1,...,n), w@) =60(0—1)---(0 —n)

t/meame)de, (n:00)
K, - 0

l/maKO)de, (n:00)

0000, (eb)0 00000

K h"ts
o O (m00)

E.(f) = (5.7)
KnthrQ n+1 .

00000, g
051 NCOO0,n000000 (n+1)0,n000000 nO0O000. g

00 5.1 000000000 (b.7) 0000000000000 000R0000000
(n+1)000000000000000DO00O0ODOOO0O0O0O0O0O0 §

K,0oooooooo,obon
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i)n>800,00000 0 +000000000000D0,000 n—o0000O0O
laj] =00 (j=0,1,...,n) 000.

(i) |f™D()| 0000 |f(¢)| 0 n00000000000000000000.

0000,00000000000000,»0000000((000000)00000O0O
gbooog.

5.1.3 0O NCODO

00 [¢,6) 000000000000, 00000000000NCOOOODOOO.
goodg
h=(b-a)/n, vj=a+jh (j=0,1,...,n)

n

Si(f) = Zg(fil‘f‘fi) :h(%f0+fl+f2+"'+fn1+%fn)

i=1

= SUot S HG - )

Bi(f) =~ 3f"(6)

fecC?()0000,000000000

. c (b - a)h2 "
3 B = - 63

O 0O Simpson 0
h=(b-a)/(2n), zj=a+jh (j=0,1,...,2n)

n

Si(f) = ;§<fm+4fzu+fm>
- g(f0+4f1+2f2—|—4f3+2f4+---+2f2n—2+4f2n—1+f2n) (5.9)
_ g{(foJern)+2(f2+f4+---+f2n_2)+4(f1+f3+"'+f2n—1)}
B = _%h4f(4)(§) (5.10)
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5.2 U0OOOOOOO

0000 70,0000 w(x 00000000000 (SOP) {¢u(z);n=0,1,2,...} O
oooo.

Tl Tp s @p(x) =00 n 0000 (a<ay <+ <xp <Db)
00000 f(@)0,,...,7, 0000000 (n—1) 000000000, 1.3.5000
gooadgd

P ( ZCMOk

goo

n—1

SOk -rj—i—l
E :wJSOk: (zj41) f(2)51),
(s P1) wi = (pr, ¢r)

DDDDDDDDDDDDD,GauﬁDDDDDDDD,SZ(f)DDD.DDDD

[y

n—

b
Sp(f) = S(pa-1) = ck/ or(r)w(x) de

i
o

00000 gr(z)w(z) =¢p(x)-1-w(@x) 00000000, () =100000

S:,(f) 900:900 ijf x]+1

guoddoooooooo.
1/w; 00 D00O0O0DO0D00O0OO, Christoffel-Darboux 00O (4.22) 000 (z =241 DO0O
000 y— 2:,) 0000

an(cpn—lv (;On—l)
An-1Pn—1(Tit1) @) (Tig1)

w; = (i=0,1,2,....,n—1)

0000 GauBOU DO OO O

3
,_.

(07% C)On 1 Pn— 1)
f(x
o On—1¥n-1 $z+1)90n(1’z+1) ( H)

“M

goood.

O GauB-Legendre 00 O
n=2000 Py(z)=(1/2)(322-1) 00 £1/V3

Pi(z) =32 00O
s0-1(-5) ()
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n=3000 Pz)=(1/2)2(52°> - 3) 00 0,£/3/5
Pj(z) = (1/2)(1522 — 3)

. 5 3 8 5 3
S5(f) =3/ <— g) +§f(0)+§f< g)
000 GauB-Laguerre, Gauf-Hermite 0 000000 OOO.

GauOUDOOOOODOO
fec™)ooO
FeIE)
(2n)!

E,(f) = 5(f) = 5.(f) =

0o0,S:(f)0 (2n—1)0000.

/ {pn(@)Pu(e)de (o <€ <b)

Gau0 0000000
(i) (NCODODODOO0OO0OO)00

(ii) node 00O OOOODODODOODOO

(i) 0000000000000, node 00 00O0O0D0OOOOOO
OO0O0NCODOODOOOoObO,0ob0obooboobo.
gbobob s1 0dgbbbbdogobbbuoooobbboooobobo

3 dx
[HDDDI:/——DDDDD
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lL.oobooooboobobobrobobooboooooobobobobobobobo
ooobooobooobooboobon pyoboobooobooobooboobooo

2.000000000000000000O00O00O00O0O0O0OOOOO0On 2,222
.,2200000L0O0000000000000

3.00 Simpson OO0 0000000000000 OOO0OOO0OOOOOOOOOOO
LODOOobhooboooboo

4. 00 GauB-Legendre 00 0000000000000 OOODO [6,b0n000000
O [zio1, 2] (xj = a4+ jh, h=(b—a)/n) 00000000 GauB-Legendre 00 00O

gd
i _h Ti—1 + T 1 h Ti—1+ T L h
[ a5 (0 (25 - g )+ (57 5))

gobobooogoobobe:.=1,2,...,n00000000000O0OOO0OO0O0OO0
Ub0n0000000D0OO0O0O0O0O00ODOO0O0
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5.3 Romberg [0 [

OO0 NCOOOOOOOooDobo,oboooobo,ooooooboobo.

00000 84f) 00000000000

00 5.2 feC™™I)D000,000000 (asymptotic expansion) 000 00.

/f(x)dx = h{%f(a)+if(a+kh)+%f(b)}

k=1

_i hQTBgr {f(Qr—l)(b) o f(2r—1)(a)} +R,,

(2r)!

r=1

h2m+1

R, = (2m>!/0 Bgm(t){;f(2m)(a+kh+th)} dt

(5.11)

0000000000000 By, O Byp(t) O, 000000,00000000000C000

god,ggggooooon.
00 se/(ef—1) 0 |s| <2r O Taylor 00O

ts

se 2 B,(t) ,
es—l_; n! 8

B,(t): n 000000000 Bernouille polynomial
0000 B, = B,(0)
goooo

1
80:17 Blz_ia 32:67 83:07 B4:__ 85:07 B6:

gos20000,000000000

EX(f) = S(F)—Si(f)
= P - @+ 00 - @) -
4 720

agdg fD hOOOOOOoOOoOOoooooag.

f000
HO:b—-eDOOOOO NOOOODOOOOOOO
T(H): HOOOOOOOOOOOO

h6
30240

T(H) - H{lf(a)+ S fla+ kH) + %f(b)}

2
k=1

57

{f(5)(b) — f(5)(@)} 4.



H/2(0002N0000000)000000000000 T(H/2)

H H 2N-—-1 1
T(?): { E:f(a+k )+§ﬂ®}
(0000000000 000000)
[:00000
H2

T(H) = I—-—A{f ()= f(a)}

i 20w - 19} +

720

r(2) = - E 0 - @) - T (0 - FY ) +

0oooo
i RELS
AT (=) —T(H) =3 f3a)) — ®)( )8
(iz) (H) =3I + 55 1O 0) ~ fO@)} ~ 33525 {f — fP8a)} +

0oo
1 H
iyt (=) =7\ = (3 JARL
3{ (2) ( ﬁ 2%0 ®) - f %%8 a)}+
000,000000000

1 H

ST () - T(H)

3 2
030000000000, 7T(H),T(H/2)0000000

H H Jéi
TH), T(=), T(=), 7(=),...
2 4 8

0

0, ), T, T,
000,0000

2mT(k+1) _ Tr(f)
T® = Z; ; k=0,1,2,...; m=1,2,3,... (5.12)

god,gggguoooooon
w0, ", 0, 1", .
000000, Romberg 000000 (W. ROMBERG).

0000000000 (extrapolation) D000 .
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54 UO0OOOOOOO

gboboboooogon

s = [ ) do

f(z) 0 a,b0 “0007” 000000a=—-ocand/orb=0co JOOOOOOO
0000000 z=9¢(t): a=¢(—o0), b= ¢(c0)

/ab f(z)dz = /Z flo(t)e'(t) dt

OOoooboo0o AOOO0OODOODODOD

Sp="h > f(¢(nh))¢(nh)

n=—oo

0000000000000000000000000000 |f(é(nh)¢(nh)| 0 nOO
00000000000000000¢(¢) 000000
D00000r=(b—a)/2, c=(a+0b)/2000

- racosht
t) =rtanh ( — sinht -+ ) ' t) =
#(t) = rtan (2 sin ) ¢ (1) 2 cosh?(Z sinh t)

000000 (double exponential) D0 00000
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